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Second Semester
Economics — Core
STATISTICS FOR ECONOMICS - 11
(For those who joined in d uly 2021 onwards)
Time : Three hours * Maximum : 75 marks
_PART A—(10x1=10 marks)
- Answer ALL questions.

Choose the correct answer:

1.  sreulflens o |G Gg,m_r'rqé; Q&P
e @(HEGLD.

(@) 0 s 1 (<) — 1 s *1
@) -1 s® 0 ()  argleyld Geamw
Rank correlation co-efficient lies between

(a) Otol (b) —1to+l

(¢) -1to0 (d) None



& OIGEIC Gumyg,
wrflaepsdlaLCu  peawvwrar  GCefaL. o g
Qgm_ii @ msESLD. _

(@) r=+1 () r=-1

@. r=0 ()  r=+0.94

There is perfect positive correlation between the
variables when

(a) r=+1 b)) r=-1

(¢ r=0 v d r=+0.94
x=a+by ey Csri@ ' &
Qariiy Curé@GE ewarurigemands GN&E D).

(@) v @ x () % Ged y

(@) Qraw@n (vF) érg;emb @dame

The line x =a+by represent the regression
equation of

(a) yonux (b) =xony

(© Both " (d) None

@ Qs Curés@sasipeder AL gerep eull
<daoms @mosred, wH@ADTE QsrLiiys Qawadd
gty 25 QO5EGD.

(=) qdrap L flswns

() REATMIGHE FLWLTE

@) gemp ol Gmpeurs
() -1 gwwons
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If one regression coefficient is greater than one,
then other will be ’

(a) More thén one (b) Equal‘to one
(¢) Less than one (d) Equalto-1

- & FrnEf apanp o W

et Q& ma).

(@) Bewr sres Guiss

(<) u@-mas.m) DTSV & 6T

(@) &lphél wrminin@eer

(rr) @@ﬁj&;}j}m LDMIS D& 6T

The method of moving average is used to find the
(a) Secular trend (b) Seasonal variations

(¢) Cyeclical variations (@d) Irregular

par sron Gursfamen peLb
Siaradlamb.

(<) Qram® mpser (=) epetny epser
&) prene pepsdt  (m)  gis (pepsar
Secﬁlar trend can be measured by

(a) Two methods (b) Three methods

(¢) Four methods (d) Five methods
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(1) SlnluenL SLET(h) SHETESHET

(<) BLUY <& 6T &HET

(@) UL wHmID BLLUIL ey e syral

(m) @aupHié ggidldame

Paasche index is based on

(a) Base year quantities

(b) Current year quantities

(¢) Average of current and base year

(d) None of these

ol sl ld @ep wHpb ererridlie elie
(PDDEST - o Hepey Qeldlerpar

(=) snyafl samadp Cersanar

(<) el Garsenan
@) g Gergmen
(™) Qaupld ggdma

The simple aggregative formula and weighted
aggregative formula satisfy

(@)  Factor reversal test
(b)  Circular test

(©)  Unit Test

(d)  None of these
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11.

gn usmL GurLu@o Quns @hHopuL—
st QupaisHETEn HISREEID. -

(1) L (=) 3/2
(24
g 3 () 4

The probability of getting odd numbers when a

dice is thrown is

(a) (b) 3/2

1
(94
3 d 4

f
i

spey peLBup @rurgy aale). SEpEreT

)
G
&n

(=) 1 (=) 3/4

(@) 1/2 /) 0

If an event cannot occur, then its probability is
(a) 1 : (b) 3/4

(© 1/2 @ o

" PART B — (5 X 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.
(<) Goproayp oLer Qsriiy wHmb adiven
o L6 Qamiiusmer afleTéEgs.

- Explain the positive correlation and negative
correlation,

Or
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() Garaipd  sresaidleps ¥ woppb
Ao Cu oder oL GsTLiy Gassms
GEMEH([HS. .

x: 1 3 5 8 9 10
y: 3 48 10 12 11

Calculate the co-efficient of correlation
between x and y from the following data:
x: 1 3 56 8 9 10

y: 83 4 8 10 12 11~ -

12, (&) eLen@gmifmy . wHmIb QsrmuCGurég
- guieiemar GeumLiB515. ;
Differentiate ~ between correlation and
regression analysis.
Or
(<) Qemeumdy  Qeuprsailr  @mnE  @ra®
~. Qsriiy Gumseé swaTunpsmart QUDIs. '
x: 6 2 10 4 8

y: 9 11 5 8 7

From the following data, obtain the two
regression equations.

x: 6 2 10 4 8
y:911_587
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18. (=) pamLarel Cursdemer efeuf. -

Narrate the secular trend.

Or B
(c‘g,). aerUL  @perperwl UwearuBhss  (Demeu(mid
STUSEEESG @ Curs@s Gar@ QuTmEseyn.
- G0N 2001 2002 2003 2004 2005 2006

e pLEh: 45 50 48 60 55 70
Fit a trend line to the following data by
- graphic method: )

2001 2002 2003 2004 2005 2006

Production: 45 50 48 60 55 70

Year:

14. (.a{) msTGeaurt elemas @Huic e eflaréis,.
Explain the consumer price index.
Or
(<) GOELE aamaiean G@mpsmars GNUALaib.
" Mention the limitation of Index number.
15, (@) Qusss Ceppsang elarss.

Explain the multiplication theorem.

Or X
(<) uaseailen Gaisas UHDH GO eTpg).
Write a brief note on ‘Association of

Attributes’
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PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
ach answer should not exceed 600 words.

o Lan  Qgmiysefler  LweTUTESET WHMD
G@psaer eileufl,

16, (20)

Describe  the uses and limitations of

correlation.

Or
(<) Gunaflued  wHRD yerefluQuelléd  usa
raeuirEdr QUL STHiser EemeuhLomy:

Ql.\lr@aﬂu‘c\'): 1 2 3.4 5 6 7 8 9 10

jdellue: 1 4 2 5 3 9 7 10 6 8
Aar® um_kisaid wrerauigeflen Sifley aTbs
@eredh@ QpmfiyeanLwgi?

The following are the ranks obtained by 10
students in economics and statistics..

123 45 67 8 910

Statistics: 1 4 2 5 3 9 7 10 6 8

liconomics:

To what extent is the knowledge of students
in the two subjects related?
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17. (o) Qenanenia) swerun@eailer LSS et L)

Neundl.
Discuss the -estimation of’ regression
equation.
Or
(<=p) 196bre(fHLD &176 &6 eflemibLig &b nc
Qeavailansmsud, (pHLImis LYY
sHEG ML eNlHLIen aTen WL LD (@pLimii

Qeresdd) s Hddang.
abugsdpsrar Qeoey: 8 10 10 12 15
18 20 22 25 28

efNbuenan:
Qursswrer  GsryGUTH@E FLOGHTLIMTL ML
sETLHlue|b.
The following data relate the expenditure on

advertisement in thousands of rupees and
the corresponding sales in lakhs or rupees.

Expenditureon Ad: 8 10 10 12 15

Sales: 18 20 22 25 28

Find the appropriate regression equation.

18. (@) srewb &mi Qamor  euflesulen LgHaanen
eflemdi(g6.

Explain the components of time series.
Or ‘

(<) (%pﬁlﬂgjj QU(BL.  BEHID syrefNenwus  samrsdl
Cunéss Gar® aua)s.
san@®: 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010

epuphs 21 22 23 25 24 22 25 26 27 26
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Year:

Calculate three yearly moving averages and

draw the trend. _
2001 2002 2003 2004 2005 2006 2007 2008 2009 2010

Production: 21 22 23 25 24 22 25 26 27 26

19. (=)

(<)

LehrLLb

HUaow>»

Commodity

GOSL( eramsmeT 2 (HEUTEGL  (PENDSEnaT
<, TMUSE.
Examine the methods of construction of

Index.

Or
?ﬁﬁfﬁé S T e e
efleasaiien GHIUSLE eransaman 2 (haurdsajib.
2000 ) 2010
ey Sjatey flewad  jaTey
- 6 50 10 56
-2 100 2 120
- 4 60 6 60
- 10 30 12 24
- 8 40 12~ 36
Construct index number of prices from the
following data using Laspeyre’s method and
Fisher’'s method.
2000 2010

Price Qty Price Qty
- 6 50 10 56
- 2 100 2 120
4 60 6 60
- 10 30 12 24
- 8 40 12 36
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20.

(=)

(=)

Geraupb ddayissldGis We'e
Qs smsdps.

(AB)=8,(A)=18, (@ f)=5 N _35

from the following in formation.

(AB)=8,(4)=18, (¢ B)=5, N =35.

Or

Hepsseieer  e@TLeD
aumswTer BahasemsT EHEEE
Define probability and explain the different
types of events.

&4 § 2 3T
Rt =
.
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